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| K 4 T2k 42 | BX| HCP |y b
Z B R Fin 44 40 84| 15.6] 68.4
2 fiz| HZE =8B 45 41 86/ 15.7] 70.3
3 fiz| JEER F 48 41 89| 18.3] 70.7
4 ) %EkE 1§13 42 40 82| 10.9] /1.1
o fu| B3k A 38 44 82| 9.8] 72.2
6 fiz] JKiIE E= 42 42 84| 11.5] 72.5
] iz Bl EEE 45 43 88| 15.4| 72.6
8 fiz] R fEH 44 43 87/ 13.1] 73.9
9 fz] %A =A 48 52| 100] 25.7| 74.3
10 1| 9% IF 47 44 91| 16.5] 74.5
11 1| W B 46 45 91 16.1] 74.9
12 fi2| &0 5 45 42 87/ 12.0] 75.0
13 fii| [RA F{ERE 48 52| 100] 25.0] 75.0
14 1| == B 48 46 94| 18.8] 75.2
15i/BG| FRZE FHI 39 41 80| 3.8] 76.2
16 fii| #75 Bk 41 53| 100] 23.0] 77.0
17 | & &g 41 47 94| 16.4] 71.6
SHE| BE =5 43 42 86| 1.1] T71.9
19 | FBR FE=FE 43 48 1] 13.1] 71.9
20 1] Ik =RF 46 48 94| 15.9] 78.1
21 fu| Bl H— 53 53| 106] 27.5] 78.5
22 fiu| 5EH #UL 46 47 93| 13.8] 79.2




23 | NHE XfE 438 45 93| 12.8] 80.2
24 fiI| TRk BE 438 46 94| 12.9] 81.1
25 fiI| fEIE B 53 43 96/ 14.4| 81.6
26 fir| Y& &3¢ 49 41 90| 7.4] 82.6
21 fiu| ME IAE 59 52| 111} 25.9] 85.1
28 fI| ¥ = 58 53| 111} 25.0] 86.0
29 1| RE &= 52 52| 104] 17.3] 86.7
30 fir| AR BKF 58 51| 109] 22.0] 8/.0
BBE| A+ &= 53 o4 107] 14.2| 92.8
32 | Rl IEX 50 69| 119] 23.2] 95.8




